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Questions

The center of a circle of radius 10 is on the origin. Which of the following points lies with in
the circle

If K9: Ko= 1 : 1 then the point P dividing the line is

If the diagonal of a square has coordinates (1, 2) and (5,6) the length of a side is

Which of the following is the equation of a line with slope 0 and passing through the point (4,
3)

The curvesy = x2, y = X intersect at

The equation of the line with gradient 1 passing through the point (h, k) is

The line joining (1, 3) to (a, b) has unit gradient then

The gradient of the line joining (1, 4) and (-2, 5) is

The mid point of the line joining (-1, -3) to (3, -5) is

The point (-5, 3) is the center of a circle and P(7, -2) lies on the circle. The radius of the
circle is
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If f1(x) and fa(x) are any two anti derivatives of a function F (x), then the value of f1(x) - f2(x)

Answers Choice
A
B.
C.
D.
A. Midpoint

B. Extreme left point
C. Extreme Right Point

D. P lies out side k<sub>1</sub>and
k<sub>2</sub>
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(0,0),(1,1)
(2, 4)
(0.3), (-1, 1)

Y=x+k-h
Y=klhx+1
Y=x+h-k
Ky =hx- 1

a-b=-2
atb=0
a-b+5
2a+3b=1
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(1,1)

(1,-1)
(2,-8)
(1,-4)
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D. None of these

A. A variable
B. A constant
C. undefined
D. infinity



